#2298-46009

Components:
+ 8 —Base Screws, #8 x 1 3/8"” PFH
If unit has a "modular file”
e 10 — Screws, #8 x 1 3/8” PFH
If unit has a "modular storage cabinet”
« 10 — Screws, #8 x 5/8” PPH
e 2 -—Screws, #8 x 1 3/8” PFH

Units Required:
+ 1 — Modular Storage Cabinet or Modular File
« 1 — Modular Cabinet / Credenza Base
+ 1 - Modular Cabinet / Credenza Top

0 To assemble cabinet to top center the top of the
cabinet from front to back and side to side with
approximately 3/4"” spacing all around.

9 If a "modular file”, insert screws through
mounting rails and fasten cabinet to the top.

If a "modular storage cabinet”, insert 5/8" screws
through the metal brackets on the end and back
panel and two 1 3/8” screws through the top front
rail and fasten the cabinet to the top.

9 To assemble the cabinet to the base assembly
turn the cabinet upside down and align the base
on the cabinet.

Q Insert the screws through the mounting strips on
the base and fasten to the cabinet.

9 Insert levelers into base assembly, then turn the
entire unit upright. Position and level the unit as
needed.

Proper product assembly is the responsibility of the installing agent. If you have
any questions concerning these instructions, please contact Customer Service.

Indiana

Jefferson | Indiana

Modular Base Units
Assembly Instructions

-

: !

Modular Storage Cabinet Shown

(Doors Removed for Clarity)

800.422.5727  www.IndianaFurniture.com



	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11

